Worksheet 10 Year 5 15.6.20

How do we use methods?

1.382711 + 721998 =

2.984201 -46271 =

3.2415x 7 =

4.7429 + 6 =

5.489321 + 287420 =

6. 547291 — 42898=

7.142 x 12 =

8.5493 +3 =

9. Oliver threw a javlin 3504cm. William threw his 4790cm. How much
further did William throw?

10. Lucy had 1499 teddies in her collection. Her friend had 683 teddies.
How many teddies did they have altogether?

11. 8 friends find some treasure and they share 9290 coins equally. How
many coins will each friend get?

12. Last year, 12 people each paid £26 for a new game. How much did the
people pay in total?

USE THE SQUARED PAPER FOR YOUR WORKINGS OUT









